FS/FE 25-RF
EE IR ERIXIGI TR IEREs

~msE
o SR FRAL R B (1) fif T SR
1R 7/ WA
 JEMT S R GBEE TR R E
o PRESLT ARG R A AR Ah 5
o T B RO AT AR AS
HFSH eESEM
R T A Y5 1 0..6m LEDf&/RIT, &ikth IR
TAEYEH 0..4m LEDfR/RIT, 2 AP K THAE (pan
HeUERTY LED 4196, 632nm ﬁ&ﬁ%ﬁ% T T A N A ) 8 R T S A
FEBER N PEILPE B2 (Hedi)
S5 HitHSE
TAEHIE, +U, 10...30 V DC! SR SE 34 x20 x 12 mm’
A, 1 <30mA B 315545 IP 69K & IP 672
it iR, le <100 mA AhsE R ABS
LReF HL % LI SRR U / R ER DR (Q) I TEASOR L PMMA
By 47 45 4% 2 R (FE LI 2 513
JE B LR <300 ms T AR EE R 220 ... +60 °C3
JFegimt, Q PNP/NPN (¥ Wi 5 41 5%) o IS I -20...+80°C
it Thhe N.O. CFIF) /N.C. CEHD B (EEED 10g
FFO& ARSI £ (ti/tp 1:1) <1000 Hz g s A h EN 60947-5-2
M J8 i 1] 500 us
NEERZ, IN Gl +U,=N.C. CEHD
-U,/IF=N.0. CHIP)
HINFEHILE, Test CRUTHG) +U, = MWk CR 537 5%)
-U,, / JF= IE%E1T
WE UGN R VF10% 0330~ 50 Hz / 100 Hz - 2 WAZRIC # B 47 55427 NIP 67 / 1P 69K A1 3 UL: -20 ... +50 °C
T{EeE FREHH LB S-St FEaRES WUERRS
0..4m PNP B, M8x1, 4-%F FE 25-RF-PS-M4 605-21016
0..4m NPN P, M8 x 1, 4-%F FE 25-RF-NS-M4 605-21017
0..4m - B, M8 x1, 4-%f FS 25-RF-M4 605-11008

290 www.sensopart.com




(I SENSOPART

EOERERIE (&5 ) BEOESEERTE (2its )
20 20
12 26 12 26
LED 2\ |/~LED 1 LED 2\ |/~LED 1
| — f N | — AN N
" &
Receiver
) 3 | Emitter_ ) 3 2
1.0 SER Ll )
N - Sy T
= «F 2 AE
M8x1
153-00852 153-00944
BEE 45 (RS ) EE 45T (Elln )
—+U; 1 BN —+U; 1 BN NPN
F— o + p—
TEST 2 WH IN 2 WH
- -
4 BK Q 4BK PNP n
[ — —
|-us 3BU Vs 38U ]]
T 154-00315 o 154-00312
ThEet L E FRRTE
1000 500
400 A
T horizontal=vertical\/
% 100 —_ T P
8 300
g 5 200 yd
& 10 @ e
100 //
1 0

0 1 2 3 4 5 6 0 1 2 3 4 5 6

Distance [m] Distance [m]

155-01398 155-01397

B+

24 A-34
3R A-4

www.sensopart.com 291



